1) Given that sin@ = % and g <0<

a) Find sin(28)cos(9) = _?3
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b) Find cos(20)=1— 2sin?0 =1 — 2 » (3)2 _ -7

25

2) Develop the formula for tan(28) in terms of tané.
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3) Use your formula to find tan(26) if 6 in an angle in the 3™

quadrant such that sing = — 3
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(see original functions, solve for the right thing. III is I over II



HALF-ANGLE FORMULAS

n . O 1-cosa ,
(i) sin— = x£,|———— (depending on quadrant!)
2 2
a 1+ cosa
ii) cos— = i,/—
(ii) co > >
(iii) tanZ = i‘/—l — =2
2 1+ cosa

Use Half-angle formulas to find the exact value:

1) Sin(—15°) %: _15 o a= _300 Sin(_lso) - _ ’1—COSZ(—300) —
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2) cos 22.5°2=22.5° a =45 cos(22.5°) = /—““";(45") =
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—cos(= _vz
4)sin(E) t=Ta=" sin(%) = : (4):J1 2
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5) If tan@ = > ind:sin@ = T\/g cos0 =

0 1-cos(0) 1+§ 5+2v5
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a) sin 5= f = = f m
0 1+cos(0) l—ﬁ 5-2/5
- = - — [—5 - _
b) cos 5= / = = / 0
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